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101|R#A7 L 164 36 128| Kg |EE 1,944 756| & 3,780 540
102|357 L 2,681 2,681 Kg BIE 1,512 464
111|&EEF £ 360 4 356| Kg |EE 648 K5 - Al 1,890 432
113|RAV S 16 16| Kg |&)I 325 =35 3,240 1,296
114|B5EFE 202 202| Kg BIE - BE 2,808 831
15[ 1= 3 3| Ke FfE 1,080
117[1E 27 27| Kg R 3,623 648
121|rblE &€ 269 141 128| Kg |EE 1,620 270|FE 1,728 166
134[#= = 444 204 240| Kg |B)I - = 2,700 1,600|% 1| 3,024 1,620
137|&5ES. < 261 190 71| Kg |BE 4,320 2,700| &£ 4,644 1,188
138|Hm % 2 10 10| Kg FE 3,564
140(5 I 15 15| Kg b 54,000 32,400
147|EZ O 80 72| Kg (LD 6,264 5,400 318 - RiF 8,000 5,000
158|&TENAIEH 446 438| Kg |mB 1,188 432| &40 1,998 540
201|{Lb L 669 669| Kg T 360 180
203|/Né L 53 53| Kg 3= 324 130
205|5u8 L 268 268| Kg FE 648 432
206| 1 415 415| Kg I 1,392 546
207| = AE 8 8| Ke il 1,080
208|m>% 342 342|  Kg BERE 2,700 432
210|1F ALy 252 252 Kg |Ri& 4,860 1,701
212|&5E.3Y 848 848| Kg - EBRE 2,938 1,250
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251K A FELCH 405 405 Kg i 7,344 3,834
252|LWAEECA 78 78 Kg |#E 4,028

254|ED12ELCA 482 482 Kg 2P 2,106 216
3031 A 7Ly 75 75| Kg BiR - RIE 864 450
306|Le &Y 26 11 15| Kg |RI& 605 521| SR 1,188

315|7: b5 6 23 23| Kg =y 2,484 2,052
3191 h o 697 97 600 Kg |EE 1,404 378| &£k - RED 2,052 702
332|115 WA EF 188 188 Kg i 2,052 1,944
351|4£ 8 25 25  Kg =1, 9,504 4,644
3541 <Y 70 25 451 Kg |TE 1,620 FE 1,728 1,188
3/5|HEY 107 5 102 Kg [HRE 864 F - EE 1,620 600
356|L L& 50 50 Kg SHR 1,512 972
3577/~ E 67 67 Kg w5 3,240 1,080
358| KB 10 10| Kg A0 1,944

362(m & 316 316 Kg JtimE 4,726 432
4025 5 &E 10 10| Kg A0 5,400
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A—uhh 30 30 Kg 2P 702 594
AN 160 160 Kg JbF 820 594
AERAT AT 1,051 1,061 Kg 2Pl 4,608 540
ARTEZL 27 271 Kg E2p] 1,620 1,342
JE WA AE 30 30 Kg Bl = 820

iy} 30 30 Kg i 1,188 972
Jarys: e 359 359 Kg 2P 2,990 650
B 23 23] Kg i 5,400 4,212
BRI 75 75| Kg Bl = 1,150 1,100
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HHA 1,381 1,323 58 Keg |&E 3,990 & 2,160 1,080
D) BHATF 163 163| Kg Ko 828 522
HTHhnn 10 10 Kg &= 632
FMd L 37 37| Kg FE 918 679
L HAZLE 6 6 Kg & 2,700
& ZANC 36 36 Kg |£ 5,700
7= L H 12 12 Kg & 1,188
|RLx S 1,902 1,902| Kg 2Dzl 3,456 540
BEr 80 80 Kg bEE 1,350 1,296
BxE 261 261 Kg JbiF 972 605
BHOF 50 50 Kg JbiF 9,342 5,184
BARF 83 83 Kg B =2 3,480 1,728




